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Which of the following is not a method
of estimating reliability of a test ?

(A) Test - retest method

(B) Alternate/parallel form method
(C) Split - Half Method

(D) Testing condition method

Mita wants to know whether she will

pexform well in a particular job or not.
da the following tool will predict

(A) Achievement test
(B) Attitude test

(C) Aptitude test

(D) Intelligence test

In which of the following rating scale, a
sequence of definite numbers is supplied
to the rater or to the observer and the
observer awards an appropriate
number ?

(A) Standard scale

(B) Rating by cumulative point

(C) Graphic scale

(D)  Numerical scale
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SET - (A

Which of the following is an objective of

evaluation ?
(A)  Know about learning difficulties

(B) Measure the achievement of
learning

(C) Know that learning has actually
taken place

(D) All of the above

A progressive school curriculum planning
should be done in a way that :

(A) Boys and Girls have different

curricula

(B) * Intelligent child should not be
allowed {te mix with normal
children

ildren should be given a free
d techoose subjects from a very
ng age
(D) It is a flexible and nch currniculum
including various co-curricular

activities

Which of the tollowing statements is not

a teature of the process of learnung

(A)  Educational institutions are the only

place where learning takes place
(B) Learning 1s a comprehensive
process
(C)  Learning s goal oriented

(1) Unlearning is also a learning process

(D)  =Oaaa d A« B TAR (5121
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(D) QAT B Q43 6aQe

8. 69W QUQACQ Fg FRQ ALAIOT ARER 1@
ARG AQQY 6291 A F6Q 6 ARNRT
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(A) 495Qd Q0Q
(B) 598Qd Q@@Q
(C) 11q12Qd @Q
(D) 15q 16 @8 Q@©Q

9. 6QWC 6R6AIR AR IR AAIFS adesn
ASGYS ?

(A) @@ 6 Qe

(B) QEAMIRE dQ LI
(C) <8I

(D) @8q etQ!

10. POe 2WEIQ AGQ AAIR B TN VR
AIdQIQAS 991FEQ G4 '8 QRIAIN ?

(A) 6Quel

(B) Q¢asael
(C) ogRae
(D) @QyeaLe

10.

SET- A

W.Kay (1970) asseted that moral maturit,

involves :

(A) Altruism and rationality

(B) Autonomy and heteronomy
(C) Punishment and obedience

(D) Social and interpersonal

At which age does a child begin to be an
active member of a peer group and tries
to be independent of his parents ?

(A) 4-5yrs. of age
(B) 5-8yrs. of age
(C) 11 - 12 yrs. of age
(D) 15~ 16 yrs. of age

Which of the following is a social change
duringsadolescence ?

(A) "Fear and Shame
(B)  Adult-like-behaviour
(C) Restlessness

(D) Imagination

When a test measures an individual’s
ability consistently and accurately, then
that quality of test is known as

(A) Validity
(B)  Reliability
(C)  Objectivity

(D) Focus centered

OTET/P-11
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1. 6@%¢ ai0veaa e geie Q69 ? R T L
(A) %{161 «Sae - Which is not a type of curriculum ?

N R (A) Child centered
(B) 26iwol Gae
(B)  Experience
(C) 280 G@e
) * (C) Regional
(D) ¢ 630e
) g (D)  Activity centered
12, Qe a : a s
GQI\: Qee Q]i?:.ll'aél G.‘?I diglidig Qe 12. Which statistical method is useful when
dRl ANUER QR ARA°HYIQ Flm@ gélie distribution of scores is normal or near to
QACAIGN 26 ? normal ?
(A) Q8@ 346 (A) Standard deviation
(B) QRIS Qaiey Qg (B) Normal probability curve
(C) QIR 946 (C) Average deviation
(D) qae (D) Median
13. @gQ 6R6HIRQ ALY FIER, 6@ @RI6 8 | 13.  What will be the shape of a graph
deo Q04Q 60 G0 6RESLQ IQREAR between intellectual development and
62Q ? c¢hrenological age from birth to
adolescence ?
(A) ] = 2“‘5&@@ (A) ] - shaped
(B) S-2g6a (B) S - shaped
(C) eFIe! (C) Zigzag
(D) PR QR 2IRLA (D) Hyperbola shaped
14. QELFEEQ GAIY IR @ AAINER WG Q| 14. Which scale is widely used in surveys
. qlel 692 AITR! LA @A ? when data are classified by groups or
subgroups ?
Ordinal
(A) @augde Al
(B) Nominal
(B) QOIS
(C) Interval
(C) 28R
‘__ (D) Ratio
(D) agdlea
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16.
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SET - (A

An empowering school will promot.
which of the following qualities the most
in its teachers ?

(A)
(B)
(©)
(D)

Competitive aptitude
Tendency to experiment
Memory

Disciplincd nature

Which of the following is not a
developmental task of adolescents
according to Havighurst ?

(A) Accepting one’s physique.

Developing socially acceptable
behaviour.

Preparing for marriage and family
life.

ing sex differences.

o said, “Yoga is the identification of
self with divinity” ?

(A) QQIg @l Olge (A) Rabindranath Tagore
(B) €129 QT (B) Mahatma Gandhi
(C) 91 2edr (C) Sri Aurobinda
(D) ac&m (D) Patanjali
geniele dgriee, JRRAIRRe 6@60 ada | 18. Teachers of gifted children need some
QEIeR1 AR | 6P UG : particular qualities. They must :
(A) /IR A/Y 6291 Q@I (A) Be intellectually curious
(B) 6QAIeea AQy 2Ige FaN (B) Do not have variety of interests
(C) QRIS G 36a geia g91ee1eea (C) Not willing to accept unusual and
906 QAR FN6s ARER diverse questions
(D) Qo qea (D) Not to be systematic
(6) (Continued)



19. 981 2yaie AURAN - 2009 AQLIN Qoq

UK 2Q) Fgieiy FAQ 2006 edco 2

(A) 6Qriee qig 4o’ @lee §de
SIREQ

(B) 2Qeieee 4% 6 909 QNgIceNEaIqIc
ARG ARIABICE O J6a

C©) 2adsear dg ]9111961,‘ 1@99‘%‘ 2I96Q
SQAIRTQ IFAS 2IeauRq QI
MLl 61N

(D) QQ€8e ¢38e cerea, cagoica

SQAING P1ORUIQE 6aR B 990
PAULIRAIAR

20. 9], UYHR G RIS FQIrIese QaYIw
ARIIQEGE 660 ?

(A) 60 - 70
(B) 70 - 90
(C) 90 ~100

(D) 100 - 120 a

21. d9IQI9Q d86q QRN 6QQI AR 6@
JdQeld FILIRAIRQ ?
(A) 9QIBIO TRITR AUEA AR E@@
(B) Jg6@Re 89IQRIAY 926 @R
(C) 6218l Q4Ig QAL Q@G‘L
(D) d8e 6@Le a8 996 0.

22. 6QEC @RI AIOIFAR IR WAIWE Q6w 7

(A) QANIRR QEQYERI
(B) @6QdQ 9°Q0 G AaMel HUUAR

(C) adeedaa 9ol
(D) 6@RIGR NERING

19

20.

21.

22.

SET - (A |

According to RTE - 2009, how should

children with special needs study ?

(A) In special school established

exclusively for them.

(B) At home with their parents and
caretakers providing necessary
support.

(C) In inclusive education setups with
provisions to cater to their
individual needs.

(D) In vocational training centers

which would prepare them for life

skills.

Backward, dull and retarded children are

generally to have an IQ between

&) B0l

(B) 70 - 90
100
120

Which steps could be taken to give
emphasis from teaching to learning ?
(A) Focusing on examination results
(B)  Adopting child centered pedagogy
(C)  Encouraging rote learning

(D) Adopting teacher centered teaching

Which is not a component of core

curriculum ?

(A) Duty towards constitution

(B)  Study of foreign culture and
tradition

(C)  Protection of environment

(D) Scientitic temper

OTET/P-11
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SET -(A

23. 6@6 9@ geade 486 aing Q6% ? 23.  Which is not a projected teaching aid
(A) QURE 6698 (A) Slide projector
(B) @RQASI (B) Blackboard
(C) GeaERe 6g1699a (C) Overhead projector
(D) -deeleiq (D) Epidoscope
i —
24. 28HY6 390! 0 Al QIRAIGS ? 24. How can the internal consistency be
measured ?
(A) QACEINRT Q& ARG (A) Anecdotal Record method
(B) QQINE - JRIAQINE O8E (B)  Test - retest method
(C) useas 08d (C) Split - half method
(D) 6@16J0 Q6% (D) None of the above

25. Q6719 UG 6QWE 988 2AN g 638SY | 25. - Which of the following is a characteristics

aee ? of a learning disabled child ?

(A) 0OR QU A°HYIQ 99 FARR (a d aeads number (6’ as ‘9, ‘3’ as
§e° 3 Q 8)

(B) Gaelasa (bqd pqq) Reverses letter (‘'b" as ‘d’, ‘p’ as 'q)

(C) @ka QA°6Qle (want @ what, what @ (C) Add letters (‘want’ as ‘what’, ‘what’
whart) as ‘whart’)

(D) @ueqly 409 (D) All of the above

26. 21696 98 Qg 26. Emotion is originated through

(A) 2nYg (A) Habits

(B) Qegie gef (B) Instincts

(C) Qe AQI4 (C) Physical development

(D) Q€I YIRS (D) Formation of concepts

OTET/P-11 (8) (Continued)



SET - A
27 Cwleewid @ 6'5':":"’: Rl © Of, 0195 27 “Growth i1s the multiphication of « ells, a
We'el 8 Bew ‘u'ﬁﬁn QI | I [Sl=1rs Qi€ growth 1n height and weight, w bl
fues AfQIg OQG‘QG’Q qeieaig R 7 development refers to the change 1n
W9c'q @9 PRYew ? organism as a whole.” Who said this 7
(A) @.9. 209 (A) E.B. Hurlock
(B) g& (B) Frank
(C) 6919 6q (C) Crow and Crow
(D) ziesaie (D) Allport
28. 6619 6960 BIR A°00R G869 P07 6¢ ? | 28.  Which of the following is not a principle
of constructivist learning ?
(A) dmiEiee e G968 RI® Q°Q0R (A) learners construct knowledge for
@223 themselves
(B) @€é 9@ RIR Q90 IR (B) learning is a constructivist process
(C) 896 9@ ANRL [ /QIy (C) learning is a social activity
(D) d9e 64619860 69164 ANQY9 (D) the teacher tries to arrive at a
AARIINER FARIG €291 P63 6948 solution of the problem in a
Q21213 classrogm
29. ¢B6aIQ ALMIER 601G ARG, 129 LRI 29. At adolescence, the head of the child is
Qi S | about :
1
(A) dQIQa 1 2’8 a af the body
1
(B) dQiea o A9 gth of the body
1 il d o1
(C) daeQ = 4 (C) Zth of the body
1 1
(D) €1 3 21°¢6l (D) gth of the body
30. QEeoe d898q ARIREER U 2860 @29Iq 30. Signal learning is commonly termed as :
gem : )
(A) Qa9 AQARR (A) Operant conditioning
(B) €I1910 UQLRW (B) Classical conditioning
(D) €Ioe Q26T ag4 (D) Verbal associate learning
) (Continued)
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Q°QE NIVIER F2QIE FGEUER | P2 NIVIER LFTIE
6 9Q ¢&R AAQ EIIR 6ANNA FACIIER QNG FFRIP
@R0Ig FER | AVEQITA (1IYEER § ALY I@Ra
Q196 ASIE0 GUINGE 12 QIE FIRAN | 6Q
QI9Y, APGY, 986 B 28R AT MCH, NSNS |
62028 | AI0R QIBIEE @ CIRER A1 RE6R NERIR
AQG1E 620 FY6R | AITR ARIBAR FROE QR
QUIEE 9ZAQ VRRIRE ARG ZIEIR URMTES QB
60QIQ QI¢ 6LWYEH | 2IG AP FVER, 6A6EERER
6QeR C@EHWE WEY D 0 WRUYY AIRINER
2020 @6RIGR WG 9@ AUFIGE QEIRAN 9e°
QAI8eY QRIG QILIER ALFIGI 6 ZRIGA colQ
QPQINAS FRAS 6Q8 Q6RINRq ¥ ARey 6ol
QIE 6R@Z6E | @RQI QIPNY, 9P RINEY 6ACEEIER
QIGYE QIRGYe ALUEN FIDR 6VIR RN |
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31, QIFYIAIeE] AEQ MR QIE] 749
cRQ2EM ?
(A) 6QQIAIRN
(B) 4IAR6a ARLG! a
(€) QR AR LIRS aQ
(D) gadl 62el aial

210 G191 ADFYER REACAIRS AR AR
69R26RA QILD ?

(A)
(B)
(©)
(D)

32.
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33. UOI0Q FITRER ARFLQ G AUP@MIAIER 9

158 S8R Q2URIE SRR ?

) RTIER ERYS FFQARIY 6RRALIY
PYC NAI FONRYQ 621Q FYRG

@O VAl AIFOT VUS| 621RAY
QQAIER QYS QNI QQ B ALFIR
g6aia Q09 VLAY

34. QREAIIR QIFI6R 699 QUTIER QIR

QRUAIRER! ?
(A)
(B)
©)

QAR
Qe
allara)

(D) @ge aual
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(A) 86010 aseranae Beaq Seaion alql
AR QOR|
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(D)

RIS 2RGIQ FRIeRIQ goa
AR 2190 §g

WM QoI b6 ga

QLY ARAI BF, AR AnIEe
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QRS QR O’ VY, 1P QUG

SOE AR @ Q&6w, 69 g6d T |
20910 ¢)631P6n QuEa qaee,

UYIER QIT 8, QIF OQ-ZIQINESR |
UIE F696@ 98 QRN @,

0% ¢l A68IT, BIQ 168 6T A | a
QUNRT AIEE 210 @ 6NFS QIQ,
4166 UQ6E QO FAR K219 |

692 €9 R186@ Q6% 62 200,
ARG 09 606G 6271 6910 RO |
FIRVER PRI L6 RN,

déI6e] 64 I@aien (@ 6QF 2 |
6@ 6QIgLE G6w @ AAR AIE,
4@ @0, 62 QI8 777 6o ¢ 19I;
“ag gen, eeNda; gelow 2o,

Q68 €Q6Q QITNIR, FEOHIZ O |
960 Faneice @dl 968 f1ew
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QAR @'6 @geim! 7

(A) aN@
(B) @Iaea
(C) cauipual

(D) 66g 966 6RIee

RIE@ Q121 644 A 6915 G010 aaaRl 7
(A) Q6RIFEAIDE RIddig

(B)
(C) @aeag

6QRYRIQ

(D) QIge @<ig

2192 RALI0IG Y60 QLA 7
(A) Q89 919 Qig

(B)
C) d19@ 6 9IRS 0Ig,

A% QI OIg

19 0l

PEaa 69u QIdig @0 SgIa KRaBRase ?
(A)
(B)
(©)
(D)

QOIS gaale
ORI ARQEQ 21419
AF gela

dflw 64!

QAR AL ¥'Q ?

(A) Qey
(B) «aIg
(€) edg1
(D) agl
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41. 6@w 0850 QoR A8IIP Qg W08 F60Fe | 45. 6rlye QAVIORIQ 6@W GRIQ ¢
i ‘r?l‘-@.? (A) QO
(A) edigefie aed (B) Q0%
(B) QINA0R gaiet C) g1ael
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(C) 98908 geiet (D) 6QIT6TIRNG
(D)  eegfia aad
46. ‘908 9K, 0199l Q&R QO AL I -
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A) 3a (A) Qeeide
(B) QiQayiele
(B) uQya
: () <aQiee
(C) QeI
5 (D) Qa6 goa
(D) &eaaq
A 47. ‘9699’ 606q 6@@ 2eica ‘gd’ @aqg
43. 6QUC 99 996 gdee g6t ?
Y 3 am
(B) Q@@ ; Qg
© eee (C) QiQey
(D) qeene (D) Qqig
44. U 90 AyE ge1 @ QAIR’ GF0R Bl | 4, U9 2R 6291’ 218l gaig QR 9FQ
@8 ? ogia |
(A) @96 PMIca afel (A) @ﬁ-m@gl a9
(B) @neq 291? Joiq edel (B) QI8¢ Qo1 coq)
©) 999 QUARY F9AQ) (©) 9099 aig 2194
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1 LG 9608 Aeee aen Q¢ 1 52. 6O8F 9006 qe qa 7
(A) @80 (A) @€
(B)  @968e (B) «f
(C)  <9@Qing = -
R (D) @8
(D) @oeq
53. 890 604 28010 g¥en d0I8 ATIee! gan
50. OR @RIf &9 99 91696 cqie QRINRIQ RS 6291 956 ?
IR 99T 609 geie qg °
ot 499 geia 99 (A) oeR
(A) QUIRQdnee (B) @98
(B) |9 2009 (C) aog
(©) Q8@ ACRIFARIRES a
(D) QRN
54. 6QUC QIRRE AVIQING Qg Q6% 7
(A) duqies aeq VIRNY g8 NEA
51. 2008 QAIP6Y RIQIR 6960 Q121 QU] Y99 @0a1Geo |
6991 RGQ ? R
(B) @8R 6 §2/1460 T4 Que
(A) QIR *RAIG6Q |
_ C) <dQ80Q 9e° QY G0 @19 &8
(B) @42 ERSR © S0
@A6Q |
OF 906 AH1LAE .
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55. 6@W AYOR QI0YRA AP0 AEe Qe | 58. ‘GRIOQ’a AOQIGIE 6QR GNC @ 6
g9 ?
(A) 2199
(A) 99166! AQIRE
o (B) &dq
(B) 6QIG6TRG FRYIDR
(C) Qg a8d (©) @@
(D) @uaQy 9Q18E (D) 9l

56. ‘6499’ 00 ga6 9oia @'4 ? ;
59. QU JORQ MY @4 7

(A) Q9 + ¥
(A) Q9% 6 Qa8 a8de

(B) Q¥ + @
(C) 6d9 + @ (B) '®8I98 Q6% 2AQAR

+

(D) €d8 + 7@ a q @ g9
998 RI9Q ARQE

57. @9 Q86 ANGE AI0IgeR 96 IIe §ee ?

(A) g6 dRIFIRE AVRGIQ, FQ8, <
X 60. ‘3019’ 606a QdIgRe FI0E @’ ?

QULIRRID |

(B) 26q GRS 9969 ARIR FEIIGE | (A) 8894 esiae

(C) 260 Q1092 A2 QIYe? 9@ Qs (B) QUYS QUISRE BIGQ ZQIo
dee 62108 |

©) aRade gae
(D) 269 9910l aiR FBRAIRE BA6s

91Q44R 9971 9 QARG | (D) 2QaQuieg
. ..coiieS 2
e
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61.

62.

63.

64.

65.

SET (A

(L-ENGLISH |
Some of the crockery __ broken. 66. | visited him Christmas day.
(A) has bee
) has been (A) on
(B)  have been .
(C)  were (B)
(D) have (C) at
(D) wupon
Which of the following activities comes
first while teachin ?
L §a proge:sextt 67. She said, “My father died a year ago.”
(A) Dividing the whole text into sense
The above sentence can be reported as :
group paras.
(B) Planning some activities for the (A) She said that her father had died a
learners to introduce the topic. grear before.
(C) Silent reading by the learners. (B) She said that her father died a year
(D) Asking questions for helping before.
comprehension. (C) She said that her father died a year
ago.
Qne who loves and works for fhis (D) She said that her father has died a
fellowmen is called a/an __ : year before.
(A) optimist
(B) fatalist :
(C) misanthropist 68. | The objedtive of note-taking is to develop
(D) philanthropist RO
(A) reading and writing
Intonation is learnt through (B) listening and writing
(A) reading (C) listening and speaking
(B) listening 5 N N
(C) writing (D) writing and speaking
(D) speaking
69. Verbal test can assess the ability of
While we our dinner, the light -
went out. (A) listening
(8) have (B) speaking
(B) are having ‘ -
(C) had (C) writing
(D) were having (D) listening and speaking
(33) (Continued)
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70.

71.

72,

73,

His behaviour on that occasion was quite

(A) unappropriate
(B) inappropriate
(C) misappropriate
(D) inappropriately

State  which of the
grammatically acceptable.

following is

(A) O Hamlet, speak no more!
(B) O Hamlet! speak no more!
(C) O Hamlet speak no more.
(D) O Hamlet, speak no more.

People say that Govind was a great
doctor. The passive form of the above

sentence is:

(A) It is said that Govind was a great
doctor.

(B) It was said that Govind wasa g
doctor.

(C) It was said that Govind had been a
great doctor.

(D) 1t is said that Govind is a great

doctor.

Using intonation is necessary both for

(A)

(B)
(C) speaking andﬂ reading

speaking and writing

speaking and listening

(D) listening and writing

74.

75.

76.

78.

79.

SET - (A

i was
Lalita kept her coab on. y

warm n the room.

(A)  since

(B) although
(©)  yet

(D) still

Questions on comprehension test the

learner’s ability of

(A) understanding
(B) vocabulary

(C) speaking

(D) writing,

Students explore the meaning and

information about a lesson

(A) during silent reading
(B) after silent reading

(L) belore silent reading ¢
(D) after extensive reading

gisphecessary for |

8

w 8
(C) speaking
(D) listening

Dictation tests the skill of
(A)
(B)
(©)
(D)

listening

listening and speaking
listening and writing
speaking and writing

He is suffering from

(A) the headache
(B) headache
(C) a headache
(D) an headache

OTET/P-I

(34)

(Continued)



) o1 — | A

S What tvpe of questions promote thinking I 82.  Which book for Gandhi was the one bodl
*Kills in children ? for the best know ledge of truth ?
(A)  Open-ended questions
= e (A) The Bhagabad Gita
(B)  Close-ended questions
(C) Factual questions (B)  The Bible
(D) Questions based purely on the (C)  The Quran ,/1
reading text _ - \
(D) The Bhagabad and Quran
Read the passage below and answer the
questions {Q. No. 81 - 85) choosing the correct 83. Thomas Carlyle was ~author.
alternatives given.
—_— (A) a German
At this time also Gandhi became more
interested in religions. When friends asked him (B) a French
to help them in their understanding of the (C) an English
Bhagabad Gita, he began to see how beautiful _
; ; , . (D) an American
it was. Before long it became for him the one
book for the best knowledge of truth. Someone
gave him a Bible and in it he found some 84.. 'Gandhi began [0.sec the beauty of the
teachings of Jesus which he liked very much Bhagabad Gita
because they were so like certain ideas in the T L ——
Gita. Then from a reading of a book by -
English writer Carlyle, he learned about a -~ ’
Prophet Mahammed and about his greatn his friends requested him to
. . 5 bl help them in understanding it
and bravery and simple living. At this time he
was beginning to learn that the truth he loved (C) when his friends gave it to him to
was not to be found in any one religion only. read with interest
_ (D) when he began to find the teachings
81. Gandhi liked very much the teachings of of Jesus in it
Jesus as .
(A) they resembled certain ideas in the
Gita 85. The phrase ‘before long’ means
(B) t_hey taughf him to live bravely (A) Certajn]y
(C) they helped him understand the (B) slowly
Gita & lat
(D) they taught him the lesson in simple (C) later
living (D) soon
(35) (Continued)
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Read the following poem and answer the

questions (Q. No. 86 - 90) choosing the correct
alternatives given.

The storm came on before the time

She wandered up and down;

And many a hill did Lucy climb;

But never reached the town.

The wretched parents all that night
Went shouting far and wide;

But there was neither sound nor sight
To serve them for a guide.

That day-break on a hill, they stood
That overlooked the moor;

And thence they saw the bridge of wood,
A furlong from their door.

They wept and turning homeward, cried,
In heaven we all shall meet,

When in the snow the mother spied

The print of Lucy’s feet. |

88.

89.

The ‘wretched” means

(A) old and weak
(B) angry

(C) contented

(D) feeling unhappy

What did the parents see from the hill ?

(A) A field

(B) 1A wooden bridge

86. Who did not reach the town ? () gieir door
A) The poet \
(A) P (D) "The moor
(B) The parents
(C) Lucy
(D), The storm 90.  Why did they weep ?
(A)  Because they could not arrive home
87. The parents were looking for
(A) aguide (B)  Because they were lost in the storm
(B the bridge .
) 8 (€)  Because they could not find Lucy
(C) their daughter
(D) Because they thought they could
(D) the moor die _
OTET/P-1 (36) (Continued)



91.

92,

93.

SET - (A

| 986 6 &89 / MATHEMATICS & SCIENCE |

dI2Fe@ TYRD 2060 60a d94 A8d
2R @QIdIRaNg ?

(A) 698 a8d

(B) @9a q166R a6
(C) 2e@ad a8d

(D) @U6QI8 AL A8d

P6QI8 F12G 60w 086 d84 Jada nad
Q6L ?

(A) 2EGLE RAQIQ J6LIT

(B) Q63998 Q169 2°¢ g2d @S|

(C) 2ge etae goie

(D) Q9@ dQIEIAIRE 26eR @GS

e G9Ea 698UR Y@ SIdFHAR 6I8TRA

Qf 6 ¢IdPAAe apel A6

(e3)}

LN
3
Ggea §f 20 6a.(1. eaem, gIdRIrQ 9@
2d0I8a Q2@ UL 6dId @

cadIdaa 6aaY 660 ?

91.

92.

93.

Which learning method is adopted at

Elementary School Level ?
(A) French Method

(B) Kindergarten Method
(C) Imitation Method

(D) All the above Methods

Which one of the following is not a
characteristics of Learning Mathematics ?

(A) Provide scope for participation
(B) Take active part spontaneously
(C) Providing stimulus for interest
(D) Neglect the backward students

Agtriangle is % rd the area of a trapezium.

If the_tfiangle and the trapezium are of

equal height and the base of the triangle
is 20 cm, what is the length of the line
segment that joins the midpoints of the
non-parallel sides of the trapezium ?

(A) 20 62.4. (A) 20 cm
(B) 30 6.4 (B) 30 cm
(C) 3564 (€) 35cm
(D) 40 6Q.f1. 1 (D) 40 cm

(37)

OTEL/P-11

aa @iy €I 919 / SPACE FOR ROUGH WORK

(Continued)
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SET - (A

- | I
94. Q@S Q°GuIQ Fd ANFAIGT 28 6 618 | 94. The mean proportion between Wi
ANGAIGT 224 | el 90 7A @4 | numbers is 28 and their third proportion
to them is 224. Find the two numbers.

(A) 14, 56 (A) 14, 56
(B) 56,7 (B) 56,7
(C) 28,56 (C) 28,56
(D) 14, 34 (D) 14, 34

95. Q80q @Ga S8E AQRU 59¢ @ael Alel | 95. Which process.is involved to identify the
609 9RaIC 2GS 266 ? specific learning  difficulties in
Mathematics ?

adda.

(B) @Qefee (B)  Diagnosis
(C) geee (C) Prediction
(D) Qeene (D)  Comparison

QC QI9Y a1 I9 / SPACE FOR ROUGH WORK

OTET/P-11 (38) (Continued)



96. AABC 6@ D, BC @adg R §Q 9e°

mZABC=m«/DAC | 9§ AD=¢6 6Q4§ .

AC=126Qf 6 CD=96a% 99, AABC g
a0Q11 Fda Q@ |

A

(A) 28 6Qd
(B) 32 6Qf
(C) 34 6Q8

(D) 36 6Q@

97. 63V VEREY AT 1RRER UYFE ‘a d

(A) 4.69. I6al

SET - A

96. In AABC. D is a point on BC and

MZABC=m£ZDAC. If AD=6 cm,

AC=12 em and CD=9 cm, find the
perimeter of AABC.

A

ais the Pioneer of Taxonomy of
tional objectives ?

(A) A.J. Harrow

(B) @.4Q. 9f (B) B.S. Bloom
Q) <A (C) Krathwohl
(D) d#Qe (D) Simpson
QT @IDY 912 919 / SPACE FOR ROUGH WORK
OTET/P-11 (39) (Continued)



Y8.

59,

100.

Q9 a=2+3% 431 24,
(I 660 7

(A) 8

(B) o

() 4

rJ

(D)

150% 1017 @ QETRQ 66968 6R60I5 95
QRe 7

(A) 30
(B) 12
(C) 42
(D) 6

G6RIC R AR GER A ¢yl F12Ig J6GYR 6
QgiIa 6.91.9. 29 6 A°IgUa A& 2
Q9 g6y A8yl 30 A6V QLRQ 6LIRAIN,
6069 QL A°EIC 660 ?

(A) 75

(B) 95

¢6Tlee

(C) 145
(D) 135

98.

99,

SET -(A

I
If v=2 4 3% +3 ', then what is the value

of ¥} —6x2+3x?
(A) 8
(B) 6
(C) 4
(D) 2

The number of zeroes at the end of the

number obtained on multiplying

15% x 1012 is :
(A) 30

(B) 12

(C)y 42

(D) o

; three numbers greater than
0 vair has the HCF 29 and their

sum is 290. What is the largest number ?

(A) 75
(B) 95
(€) 145
(D) 135

OTET/P-11

Qe @Iy Q19 919 / SPACE FOR ROUGH WORK
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SET - (A

101, W)W C1alG) e o & ;
o i 4R Qe Qidign 101. Which one of the following is associated

WG G0 QI o -
1960 @66 ? with the enrichment programme in

Mathematics ?

(A) ﬂgla}@ﬁm AIRIER RILYSRD! Dlg! (A) Students are allowed to work at
ARG Jaie | their own pace.

(B) Qua @go aﬂi‘?jmma AL-E0I0 (B) Different category of students are
9Ee QY @0QIQ A90E galq | allowed to work with Co-operation.

(C) Q8 VUER G0 BIR AR 6 95Q (C) No seriousness is required for
JuIe f@Qa! |

acquiring depth knowledge on

content matter.

(D) eQlaa @LG;Q 66610 SRIeINIRE 9U6n (D) Intellectually inferior students are
6QlaQ 296N d1e1I6R gule Gaia always dominated by intellectually
@Q2la | superior students,

102. 2 6,000 @ 9C6 QEANG @A LG 66T 2. ivide T 6,000 into two parts, such that
Qeg @8 12% Qo 21060 3 9 I n first part at 12% rate of interest
6Q6m 696@ q AP, 2 @I Q8 . will be equal with the interest

Ql 21666 4 @F 6 €11 IR fO@ 626m 6A0Q received on second part at 16% rate of
Q A@e | interest for 4 yrs. 6 months.

(A) 3,500, T 2,500 (A) 3,500, T 2,500

(B) ¥ 3,750, X 2,250 (B) 3,750, T 2,250

(C) ¥ 4,000, % 2,000 (C) T 4,000, T 2,000

(D) ¥ 4,250, T 1,750 (D) T 4,250, T 1,750

o @b a1 19 / SPACE FOR ROUGH WORK
oo O ¥
(41)

(Continued)
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103.

1

B.5=2915,

SET - A

V85=9.2015 ELEw 103. If \85=2915 and V85=9.24915, then
[0.00085= ? " V0.00085 = ?
(A) 0.0921 (A) 0.0921
(B) 0.00291 (B) 0.00291
(C) 2.0915 (C) 2.0915
(D) 0.02915 (D) 0.02915
104. Q9 6915 6QQIN PES a4 X 150 2QULLUISS. 104. If a shopkeeper sells a bat marked ¥ 150
15% QQIG8Q 9G9I Q2 T 7.50 fAie ¥ l at 15% discount and gives a ball costing
AR IS QUG 606Q BIFQ 20% NG 29 4 X 7.50 free with each bat, then he makes
QIee REIDIA Ta @9 | a profit of 20%. His cost price per bat
a dl
(A) T 90 ) 0
(B) %100 (B) ¥ 100
(C) T 110 € T110
(D) %120 (D) %120
QT @IdY 919 919 / SPACE FOR ROUGH WORK
OTET/P-11 (42) (Continued)



105. 98 9866 DH : HG =3 - LEG:GF=1:2
DX : XF @49 @q |

D

(D) 1:4

6915 TI96Q &Rl V10 B 2P 19486, F1Q
6 PRQ AFUIS AN 3 : 2 9Q° URY 9@ AIGER
10 G P06 AFAIE ARl 5: 3 | K

609 2AIP6a Fgd 6Ra AdIaem, @)
fga66 A16 6 aRa UQaIe 629 11:7 ?

106.

SET -(A

105. In the figure shown DH : HG =13 : 1,
EG:GF=1:2, find DX : XF.

D

(A) 1:1
(B) 1:2
(€) 123
(D) 1:4
106. A mixture of milk and water in the ratio
- as taken in a pot and in another
ratio of mixture of milk to water
as' 5+ 3. In what ratio of the mixture

from the two pots be mixed such that the
ratio of milk and water in that resultant
mixture will be 11 : 7 ?

(A) 8:5 (A) 8:5
(B) 8:7 (B) 8:7
(C) 5:3 ) BB
(D) 5:4 (D) 5:4

e @by 91 919 / SPACE FOR ROUGH WORK

(43)
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107,

108.

109.

SET -(A

S8 AU QDR ANY AVNS 7 107. Which of the following has the greatest
value ?
(A) \'g"‘\ﬁ (A) \/§+ \,@
(B) JVi+y29 (B) V1+v29
€ Vi2+V18 (C) JV12+V18 .
(D) V10+v20 (D) J10+y20 o
3(3%) =27 +54 696, ¥ Q IR 6QEE ? 108. If 3(3%)=27"+54, then the value of v is
I
(A) 3 (A) 5
(B) 1 (B) 1
2 2
© 13 © 13
(D) 2 (Dy 2
Qe 28t¥=32 @ 2¥ ¥=4294, 6069 ([@109.gif 2'*¥Y=32 and 2* Y=42, then
N
(A) 5
19 19
(B) B) 5
29 29
© - © -
41 41
D) — D) 5
Q2 @Iy QI 419 / SPACE FOR ROUGH WORK
(44) (Continued)
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110. RIAYE F12IQ) 626 6961 AIel JRYIARS TRITR
2GS 266 ?

(A) @it
(B) &fe
(C) geIae

(D) @deQIs A7L

111. 6996 986Q QU 86 A°ge 6L ?

(A) o
(B) Qeuede
(C) USRRG

(D) Q€RING

SET - (A

110. For which category of the following the

results of evaluation is necessary ’
(A) Student

(B) Teacher

(C)  Administrator

(D)  All of the above

111. Which one does not link with the nature
of Mathematics ?

(A) Logical
(B) Systematic
(C) Exactness

(D) Descriptive

112. 9@ 4371 Q2Qwe 21288 3 Q@39 6RIEl AUER | eqcatfer between the interior and
Qlgey 60°, 6062 @8 PLYNA LA teri f aregular polygon is 60°.
6960 ? , NOwW y sides are there in that

polygon ?
(A) 5 (A) 5
®) 6 ®) 6
) 7 © 7
(D) 8 (D) 8
QT @Iy 9Ig 919 / SPACE FOR ROUGH WORK
OTET/P-11 (45)
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113, 42 3456 2725 3942296 2°8¢5 396 113, In which method 2 Mathema
< C AR B 8, KD D g L7 Problem 15 driaded mto mearmungri, ©
2€% &0 1 to dernv < at solutions
(A) Deoiw A) Inductive
(B) 2esow B) Deductve
(C) 24486 | C) Analvsis
(D) 2<q8e | D) Svnthesis

114. 298 0ag €265 BF 5707 985 7% 494 | 114. Which of the following is not an example
Q6% 7 | of Constructivist approach ’

1 (A) Student actively construct his/ her
knowledge.

>
8
8.
3
3
w
0
3&
&
x
R

(B) (B) Learning through sodal interaction
and exchange of ideas and values.
(C) (C, Itdoes not develop skills like critical
thinking, evaluation and creativity.
(D) wledge 1s

possible by addition of new

ddaz=u1~

115. “98¢ 9@ Smr Qe 219949 Q83 7496 | 115. “Mathematics is the Science which draws
@60 | - @1 QLR 7 necessary conclusions”. Who said this ?
(A) CRuee (A) Locke
(B) wokew (B) Hogben
(C) comie 6084 (C)  Bemamin Peirce
(D) Qa0 (D) Galileo

0T @by 21 919 / SPACE FOR ROUGH WORK

(46) (Continued!
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AL A TR I L I L O 77

ST G A e e |

Hl’ ry t’l' lt-”,

i !

(A) 64"
(B) 52"
) 12°
(D) 76"

2 )
117. 15 G QRN GCRIAI 9@ 90 G5 el

@0, QINI6 W9 8 Yoo diEay 8 cow |

SET - (A |
116, In the given figure, PQ = PR, RO = S and

STIIOR. Find the measures of ZRS]

]2.8" C\\ IJ

(A) 64
(B) 52°
() 12°
(D) 76

117. Find a fraction, equivalent to the
e 2
multiplicative inverse of 17, such that

i

ce between the numerator and
inator of the fraction is 8.

(A) A 3
(B) Z:f ®
o B © 5
O 5 3

o o @id @18 9I7 / SPACE FOR ROUGH WORK

(47)
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118. 4% QAAERIE1 GRIQ 6915Y Q2Q 674y
20 6Q7 99° Q4 6 ARIZR 6DdYQ 2Q
R 6Q0 626q, R QILEQ 6D @0 @Q |

(A) 21 698
(B) 29 6Qf
(C) 25 6Qd

(D) 16 6Q§

119. x+a= x+b 626R, a=b; Q! sQI8 JRAIG
6QQ 599 QYD ?

(A) Qo6
(B) Q99
©) &a
(D) 68Q%

120. 32 6 J3 @ 96Ie dQ Qa |

(A) ¥
(B) Y72
(©) 108

(D) @¢a GaIAIRaIRe AP

SET -(A |

118. One side of a right triangle measures
20 cm and the difference in lengths of its
hypotenuse and the other side is 8 ¢m.

Find the length of its unknown side other
than hypotenuse.

(A) 21 cm
(B) 29 cm
(C) 25cm
(D) 16 cm

119. If x+a= x+b implies that a=b; this can

be established by which law of addition ?
(A) Associative
(B)., Distribution

(C) Order

(aancellaﬁon

120. Find the product of 32 and /3.

(A) Y6

(B) 72
©) <108

(D) Cannot be determined

@ @IdY QI 919 / SPACE FOR ROUGH WORK

OTET/P-1I
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SET - A
21. 45 @69 Qg 16QI60 a5 s
1= ) A PIREEIQe deq Qe 121. In maximum how many litres of

(s lala] f:] G 2 ) 5 .
Y BEE BAeIE 9ge eaiaieade 7 aquaregia can be prepared from 4.5 litres
of concentrated hvdrochloric acid ?

(A) 4.5 Qee (A) 4.5 litre
(B) 6.0 Aga (B) 6.0 litre
(C) 7.5 Qee (C) 7.5 litre
(D) 9.0 @9 (D) 9.0 litre

122. @@IDEI 2GR 6QIP7 609 9614 81918 | 122. The operation blackboard is a part of
e %6 ? which National Education Policy ?

(A) @I ]G 1986 (A) National Education Policy 1986

(B) RI919 F[NKES 2020 (B) National Education Policy 2020

(C) @1 I]RE 1968 (C)  National Education Policy 1968

(D) 9IRS £11IG 6998 @ g6 (D) Nonewof the above

123. 640QIQ B8 692QIQ : 98 : : §IQQl
@1RAIQ : X

gge 69a geIa REIGEe Aearee ?

Which type of fixed answer question is
it ?

(A) QR QEe]ea (A) Multiple choice based
(B) dlQdirima (B) Analogical
(C) eana (C) Matching type
(D) Selection based

(D) QuREae

aa @9y €ie 919 / SPACE FOR ROUGH WORK

OTET/P-11 (49) (Continued)



SET -(A |

124. giafia agI6e QU9 e QRN QIEQ 124. Why was mid-day meal introduced in

@OUQImem! 7 primary education ?

(A) glfie 4919 ] A2196! 64191 (A) To give nutritional support to
primary education

(B) 2QVFe QAR &S| (B) To bring institutional reforms

(C) 69191 g6 QeQQIFQ] 999 69! (C) To emphasize on accountability to
the community

(D) 69191 Q°g3q ARYe @QQ! (D) To strengthen community

participation

125. QRIQ VG LI ANAEA FAVRANER QR
J80Q oA @8I 6 G121 1S §o81e
6LIQRIN | 6968 BAYRR ARG 6QQE 6RRIS
QERINISS ARG FEQ FIL ?

125. Teachers adopt various means while
teaching Science subjects and it is
accepted by students. Then which of the

following does not develop scientific
temperament ?

(A) Q0T QRIQIGIQER ANLE (A)" Through experiment of the topic in
Laboratory.
(B) 6441 @iela a9ddeq GaaGQ (B) Observation of the topic in the
ady6eaé outside class environment.
(C) Q90a gIEe aI6e Q4e (€)  Vivid description of the topic.
(D) @800Q gee QoI AQUIR (D)

Observation of the phenomenon
through project.

Q@ @Idy @i 919 / SPACE FOR ROUGH WORK

(50) (Continued)
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127.

126. 94 GOE UHY YA V6EE 6910 PRRG
@'Q QUK ?

(A) ULYP SYGeeR
(B) 9OQ® MIQQEs
(©)
(D)

AYQR UIENNFRER

Joge UIENIRIGREs

AIQ FEIQE Q88 QPG 6w gaels ade
Q6L ?
(A) 98 6qJeedn,
(B) @IG69AR

(C) IAAERAR,
(D) QALY 9ARRAE

128. cod @90 CQISERN ANG1C Q6L ?

(A) 6QEREQ 0 MEa URAE

(B) 6@@gFq 00aa Oif QR @60

SET -(A

126. What is the bending movement of stem

127.

towards the sun light called ?
(A) Positive geotropism

(B) Negative geotropism
(C) Positive phototropism
(D) Negative phototropism

Which of the following processes is not

associated with metallurgy ?
(A) Froth floatation
(B) Catenation

(€) ~Laleination

(D)

Magnetic separation

: ant is not applicable for cell
ane !

Envelope of protoplasm and

memobpr

(A)

nucleus

(B) Separates cells from one another

(©) q@ﬂia (3 69e4ia Qe Q00 (C) (_’nmpnsed of  proteins  and
carbohydrates
(D) §@q9 (D)  Porous
ao @dy 919 @19 / SPACE FOR ROUGH WORK
(51) (Continued)
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1 Py nh | | .wi'-a!”ul-l.ii‘d.l > H‘ﬂ\“l‘n | 1*‘]".:1 ‘.tn“';;“'r‘ F‘Jlll rf]‘l-'\n’

el "}-r«ﬂ..:';.l.l 'l n'I'uT T
(A) ©fl

(B) Q6@

(C)  6If0a0

(D) ZG@Ie

130. 6QIG 50 cm 62199 QO6! Q84 9@ aaw
6madq (Fig. a) 9o 28 Q16 696 QIR
a0ee 99 Q191 AAF6 NVER LaHe
@QULIAE | (Fig. b) | QHEQ d°6UINAR
Fig. ¢ 60 G0 Q@QIUIAE | 9@ 6N
AGMY 6MAY UEIN EREE 60 ?

SET - A

129. Which of the tollowing does not readt

with aad ?

(A) Copper
(B)  Nickel

(C)  Chromium

(D) Oxygen

130. A convex lens (Fig. a) has a focal length
50 cm. It is cut into two symmetrical
halves by a plane containing the principal
axis (Fig. b).

re-combined as shown in Fig. c. The

The two pieces are

power of the new combination is :

Fig.a Fig.b Fig. b Fig. ¢
(A) 05D (A) 05D
(B) 025D (B) 025D
(C) 1D (C) 1D
(D) ZeroD (D) Zero D
QT QIdY QIR I / SPACE FOR ROUGH WORK
OTET/P-11 =
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L4l
!"-I

133.

5 0S99/ SPACE FOR ROUGH WORK

-~

131. I99 99'Q ANAER 601 Q0QIT coiQelg ?

(A) R0 9°QAEANIR AERIFR

(B)  R9Q A1rQAANQ QARG

(€1 IR99Q 91 Ade

(D) 99 9¥R JASR 2IQ

25 m- 2aeY 98 Y@ ANER KAER 15 Pa

A) 375N
(By ©oN

(C) 17348
(D) 1E58N

cogtce IFHA0 6918 A06 2AENIR AN ?

(A) 6g6 a9
(B) Q@GO'WGU
(C) @<wi€§

D) feede 8¢
oo @by QI @

(53)

OTET P-11

131. Which

132.

133.

SET - (A |

event does occur  during

inspiration ?

(A) Contraction of abdominal muscle

(B) Expansion of abdominal muscles
(C)  Release of air from lungs
(D) Reduction in size of chest cavity

A pressure of 15 Pa acts on a plane of
area 2.5 m2. The force normal to the
plane is :

(A)_37.5 N
(BY oN

175 N

aN

Which has
chlorophylls ?

(G

eukarvotic cells with

(A) White Blood L’orpum‘leﬁ

I'radescantia

(B)

Bacteria

(©)

(D) Blue Green Algae

(Continued)



SET A

13, tow wiltadle | e W8 134. Which adaptation . in help hish t
in water
(A) W@ ‘n‘ii (A) Fixed eves
(B) Qa®ua @010 (B) Streamlined body
(C) LIae ¢ (C) Light skeleton
(D) o|\6 oa (D) Sharp teeth
135. QOO NERIQRNIPE (12160 606E 8eaIee | 135. Which of the following is not a right
QIR A0R AERINE Q6L ? attitude for the teachers ?
(A) NI 8%l 988 WAPE *Ge! (A) Toencourage the imagination of the
learners.
(B) @diiw Qg 659! (B) Taking care of the learners.
(C) 499 %ﬁﬂl&hq AR NIER QLI (C) Treating all the learners equally.
Jodn/ @ae!
(D) SQIRIAINE CFLINRES Qna @ee! (D) Comparing the learners as per their
!I I abilities.
136. G699 QUG 6QQE TR 9 §g UG Out of the following which is an alloy of
aee ? Mercury ?
(A) dee (A) Brass
(B) 6ai& (B) Bronze
(C) 6QMEY (C) Solder
(D) &« MG (D) Zinc amalgam

Q@ @Y 91€ 219 / SPACE FOR ROUGH WORK

OTET/P-11
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(Continued)



) SET - A
137. 98G6R 96990 Qa1 6og aigya SRIQBAN ? | 137. Which work is not done by transpiratic
in plants ?
(A) vIanIgl Gagg (A) Temperature regulation
(B) &% adees (B) Movement of water
(C) 2608 @0 Q@igag (C) Evaporation of excess water
(D) 169 aQid saioe (D)  Excretion of minerals
138. €ere G Q946 c1eR Q| QRIgg : 138. Asteroids between Mars and Jupiter :
(A) 9 SI6U6e QRG (A) revolve round Mars
(B) @296 9I1696¢ Q& (B) revolve round Jupiter
(C) e0d TR 8 QL86 9IRd6s ena (C) revolve round both Mars and
Jupiter
(D) ng‘q QIR6E Qna (D) _revolve round the Sun
139. QG 6@lad @g QU6q AAAAE @8Q | 139. If three forces equal in magnitude acting
536aI6 on QIdY 98 6x16d TR AQI3 IR, on a body produce no result, then the
6069 66@16d QARG @R AUER 6RIE 660 angle between any two forces is :
6eQ ?
(A) 0 (A) 0°
(B) 30° (B) 30°
Q6 (C) 60
D) 120 (D) 120°

aa @Iy aIgl 819 / SPACE FOR ROUGH WORK



SET - A

140. Q9910 24 ARINGR 694 2gR10d gaIaieg | 140. Which microbe does convert alcohol

QERTI0 Jge @6Q 7 vinegar by aerobic fermentation 7
(A) @ (A) Yeast

(B) 1d6QIQIga (B) Acetobacter

(C) QaseisnINg (C) Pseudomonas

(D) MIEQINIAN (D) Lactobacillus

141. 5618 098G QG 69RE 8l 6QIPRIQ 988 | 141. Which of the following is not a step of

Q6% ? lesson plan ?

(A) dI08e dOo (A) Introduction
(B) w@agdiawl (B) Presentation
(C) Qs (C) Summary

(D) GMMIAR a valuation

142. 9546086 080 A8IQ JVIQINER 6846 999 | 142. Which is teacher based in the observation
caRe ? method of Science teaching ?
(A) @624 € (A) Description of objectives
(B) Q@99 Z6RSR (B)  Group discussion
(C) Qale (C) Conclusion
(D) 41”8 (D) Experimentation

QT @19y QIR 919 / SPACE FOR ROUGH WORK

(56)



SET -(A

143. “Who gave the principle of white dwart

stars ?” what kind of question is this ?

43. 699 Q99 G181’ @ Faa &g QIR
@OEM 7 - 9% 948 cag deieq ?

(A)  RI? 260
(A) Knowledge based

B) Q& &
(B) & Q9 (B) Understanding based
(C) @C6aIa 2GS (C) Application based
(D) 980! ARG (D) Skilled based
144. RINE QIR 690 696 9YR §6% ? 144, Which statement is.not applicable for

black soil ?

ated from igneous rock.

(A) 26gedRle G Q&

(B) @@l 6 Ql6gAae NEG AR Al (B)  Excess iron and magnesium salts in
it.

(C) Excess manganese and iron salts in

(C) QaRe 6 6alea 92J6Q Yl
it.

(D) Suitable for cotton cultivation.

(D) @aIeI8 die A9Ys
—/’/’w’_
aidy aie 19 / SPACE FOR ROUGH WORK

Qe

(57) (Continued)
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145. 6Q106-19 0 QR4 604 Q120 ARINER QUIF

146.

Qq AR QQ 6/MI ?

(A) <198
(B)
© @i

(D) QleTAR

IENIREGIE IQINNIQ IR IR QIRIQ AR
GLER | INITCIER BIVIF ERYER | 6QLER TR
62R2Q! 2EAIR Gl B 2A/DIQ I AERAOE!
REM | QDG 6RESIT MY UIR8IQ ARIAGIER
ERYER | DR6AT6R FBIG e 66 |
2j60 602 gl Qe 79 ?

AdY6QBé
YR W
gedaqee

Jaghee

145. Which carrier

146.

SET -(A|

was the cause of
transmission of COVID-19 to take the
shape of pandemic ?

Bat
Man
Air

Pangolin

On teaching photosynthesis, the teacher
gave its definition. He wrote it on the
blackboard. Discussed the light reaction
and dark reaction involved in it. He wrote
the related main ideas of it on the
blackboard. At last, he gave the
hemework to the students. Which type
of education is based on it ?

(A) Observation

(B) Descriptive
(C)  Exhibition based

(D) Project based

@ @19y Qiel 919 / SPACE FOR ROUGH WORK

(58)
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ST A

A Prowp ol o) vte abiservsil alfer

L MG i
W @R VG Gt

I gy quig

al'!.ll'\,l' "Iy ,.' ks l‘}

LU LIV NIV reduction division Whio e ol th

tolloowing: o idic ate Hhe ——

male parental peneration

(A) XN

(A) XX
e vy
(C) X& X TR
(1) X&'y (1) * o

14K hH'HT fald ) RN 18ty ol - Which electromie configuration indie ates

/

d2Yy

(A) V7p 17e I (A) 17p, 17, 1K

(1) 15, lop, 171 () 15, Ibp, 170

() 19e, 20n 17‘, (C) 19¢, 20n, I7p

(1 9p, 100, 10e

m)QWWWHW
E@c oldtl Al @i/ SPACE TOR ROUCGH WORK

(€ ontinued)
(%)
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SET -[A

19. 9184 ARG dFIQINE GQIOIQQ@QQ o) | 149. Indicate the correct order of steps 1

150.

Q09 912 |

(A) QPQY @QULI9R — LAY LA

— 2GR — VIV — AVIQ |

(B) 4RI — Q7Y QULIF — AAQY|
QAT — ARAR — AQAFIFNRI |

ANQY RAVIAR — QAR — ARG —
AIFIFQI[| — AAAY 2RUGHE |

AAQYl 2AFTA - QUAIAR —
918120181 — AR — ARIS |

QId QIALES ERREE IRAGAN eI
@A | RUQE -

(A) URAPAN 9@ 2R UIQ

(B) 2Q8R000 29627 9o 2@ 21Q8 2
(C) RAFANQ P08 AR OIg 2

(D) 2RATen 9oaaiem 6Ra 265

150.

experiment process education.

(A) Problem presentation -
Understanding the problem —
Assumption — Experimentation —

Inference.

(B) Inference — Presentation of
problem — Understanding the
problem — Assumption -

Experimentation.

Problem presentation —

Assumption — Inference —
Experimentation — Understanding

the problem.

Understanding the problem —
JLPresentation — Experimentation —

sAssumption — Inference.

In thermochemical welding aluminium is

used because :

(A)

Aluminium is a light metal.

(B) Aluminium has more affinity for
oxygen.

(C) Aluminium is a stronger oxidising

agent than others.

(D)  Aluminium is a reactive metal.

QT Q1KY 9IR Q19 / SPACE FOR ROUGH WORK



